Questions
b
1. A nosocomial infection is


     a. Always present but inapparent at the time of hospitalization


     b. Always acquired during the course of hospitalization


     c. Always caused by medical personnel

 
     d. Only a result of surgery


     e. Always caused by pathogenic bacteria

a
2. Nosocomial infections are most often caused by
a. E. coli

b. S. aureus
c. Group D Streptococcus
d. Pseudomonas

e. Klebsiella

e
3. The symptoms of gas gangrene are due to all of the following except

    a. Microbial fermentation


    b. Necrotizing exotoxins


    c. Proteolytic enzymes


    d. Hyaluronidase


    e. Anaerobic environment

d
4. The symptoms of tetanus are due to

    a. Deep puncture wounds


    b. Hemolysins


    c. Lack of oxygen


    d. Clostridial neorotoxin


    e. All of the above
b
5. The treatment for tetanus is


    a. Penicillin


    b. Antibodies


    c. Toxoid


    d. Cleansing the wound 


    e. There is no treatment

e
6. Normal flora of the respiratory tract consists of all of the following except

    a. Diptheroids

    b. Staphylococci


    c. Micrococci


    d. Gram-negative rods


    e. None of the above

d
7. All of the following are true about otitis media except


    a. It is caused by Streptococcus pyogenes

    b. It is a complication of tonsilitis 

    c. It is transmitted by swimming pool water


    d. It is caused by Coronavirus


    e. It is caused by Staphylococcus aureus
c
8. A diagnosis of “strep throat” is confirmed by all of the following except


    a. Hemolytic reaction

    b. Bacitration inhibition


    c. Symptoms


    d. Serological tests


    e. Gram stain

d
9. Penicillin is used to treat all of the following except

    a. Streptococcal sore throat


    b. Diphtheria


    c. Pneumococcal pneumonia


    d. Klebsiella pneumonia


    e. Scarlet fever
b
10. Which of the following is mismatched?


    a. Schick test – susceptibility to diphtheria


    b. Dick test – diagnosis of scarlet fever


    c. Tuberculin test – susceptibility to tuberculosis


    d. Histoplasmin test – diagnosis of histoplasmosis


    e. None of the above

a
11. Which of the following diseases is not correctly matched to its vaccine?


    a. Tuberculosis – toxoid


    b. Whooping cough – heat-killed bacteria


    c. Diphtheroid – toxoid


    d. Influenza – viruses grown in embryonated eggs


    e. None of the above

b
12. Which of the following  diseases has a cutaneous form especially in 

       individuals over 30 years of age?
a. Coccidiomycosis
b. Diphtheria

c. Legionellosis

d. Scarlet fever

e. None of the above

b
13. Which of the following is mismatched?

     a. Acute epiglottitis – Hemophilus

     b. Q-fever – Rickettsia

     c. Psittacosis – Chlamydia

     d. Whooping cough – Bordetella


     e. None of the above

e
14. Pneumonia can be caused by all of the following except


     a. Legionella

     b. Klebsiella

     c. Mycoplasma

     d. Streptococcus

     e. None of the above
